EARAROBEEIERT — 2 N— IBISH —F

20165 7A7H () 8mEHMH2H

M C2 Y5%R3mL (xwlw | lmEmml - |5 @) o 8
[A&4£] 1 7% :300,000" ~ 23#%&:72,000 M  33&:36,000”  437&:24,000H . 57 :18,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B . _ Hrhz . 43— — FiEXE ()
10 6 R — LRy —= 4 4 57-0—7— 1.(:2).1 5-4-3-2 | 39.5 1 :1:528) ﬁj_:ﬂ;
L:214F¥T 0 ML B:U—ILTq pepRl=lozse]
N N ihE :32. —-5-4— . — KR (FiH)
;B INA X TI— 4 5 o 1(362)1 4-5-4-4 | 40.3 3 (5_110) S
L:F1=TANA B:T7TVII-Y3> H—L—- T vIN> . T7—LBRS
- N K & ABB : 00— - HEM—B (FH)
3 9| 712F 497 -0 i 5 g (11312/5,) 2-2-2-3 | 40.9 10 (4_652) Bﬂiﬁ&%
LvYUSTyR BiUATIE RER %Y K
. REFR : —6-7- — EREY (T
A . BB T 3 s (11.312/.;3) 6-6-7-7 | 40.6 8 (4;7) K%E%
R:BALINS Ry IR BT 4)—XNZ b R B
N MARFELR 132, ~7-6- . — THEZE (EE
517l 7| 728—v v b "B 7 AR et re
L:g4¥Tv b B:F>Y /% IWE R
— 3 it 4 | ALRE 1:32.8 10-10-9-8 | 39.8 | — 5 436 | HBAEEA (k)
68|10 F—LFT>3 54.0 (3/4) 4 | BANL
L:O-—J X124 B:TJAT7AFT7IIL N R
N f 5 | EREE 1:32.8 1-1-1-1 | 42.2| — 2 453 | EEAAE (EE)
7|55 | PAFTLAN- 54.0 (NF) Cn |FES
A TAT v — BIIRT—=NT=N FHE
o MUfats ] 810~ _ BAEE (FEh)
8 4| Z=F1 2 o4 i (12.313/.22) 8-8-10-9 | 40.4 4 :&133) B
a4 Fxov by B:aAxX/ 75074 — AHITp—L
< TEE . —3-5- . - SETH (F)
9l1l1|%HAERIIR 5 54.0 1(13/32)3 356 |48 : ‘zg? %Iﬂgﬁh
RTANKET Yy BRry REXT Y b & RZ
N EEHET :33. -9-8- . - EHEUR (FER)
wlzl g | 21— r75y i 6 o 1(13/32)4 9-9-8-10 | 41.0 9 (4_887) SHes
L:TZ9 084K B:AA—bUTy— E& —B
® 1—F—@EBIERL
1T=7r= 5,9,1,3,6,2,7,4,8,10
2a=5F= 5,9,1,6,3,2,7,4,8,10
Ja=5= 5,9,6,3,1,7,2,8,10,4
43—+ — 5,6,9,3,7,1,2,10,4,8
[ /N
B 6 1204 714K 3-6 220M e E 3-6 4108 JEE 3-6-9 4,260
B B 6 130H4 6-9 1,120H B = 3-6 420M EE 6-3-9 10,710
3 230M 3-9 2,510 B H 6-3 560M
9 1,510

ABICOVWTRDTEEERROODE. TR LIV,




